PITT Qube SEM-40WGM-AAA-0
ORMEASEBROBEFT>TEY A, DEMIEFERKERETHIENHYET,
OXRTMEFIOEERIEEENTEY A, CERHERIRBEA DAY £,

Copyright(c) KOSHIN Ltd. All Rights Reserved.

—_

2025/03/31 15:48:19



PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEM-40WGM-AAA-O

OBMEFERCERTSIENHY T,

OERHIBIEREA DM X

No. mE & - HME B Eff iBE

1 011527403  [SE-40W #° ¥7°#-2 ADC 1 8,500

2 011527302  |SE-40WIR A757% (PS) ADC 1 2,900

3 011527203  [SE-40W 25/401tH 7 5~ T (G) ADC 1 4,000

4 011527701  |SE-40W Fvvdn" 47" NBR 1 900|(N)

5 011526701  [SE-50W Fv9¥n 17" 7° b-h SPHC T=1.2 | 200((N)

6 703319075 [+ AdHA™ vy IS M4 x1OSWI|2 200|(N)
RM

7 011520201 |SE-50WIR AfAI4E5.0 ) > & NBR 1 500|(N)

8 011520101  |SE-50WrtH A0 Y >~ & NBR 1 600|(N)

9 011807802 [20A7S54 4 3 2 600|PA-156(4971770-102156)

10 743119046  |MAN FILRQESHEASAT Vb M8x2 2 8 200|(N)
SWRM

11 011057905  [SEK-40E-1 759" 7" 35y ADC 1 5,700

12 011422002  [|SE-40F-2 i&%&= FC 1 5,500

13 011430505 |SEH-40F 4UA°3 ADC 1 3,200

14  |012802001 [SEM-40W A" -243 1 8,050

15 012230701 [SERl®OH A R/IRRILSNIL BHa-h7hay |1 300|(N)
+PET

16 011011401 [SE-254UA°F5REET v & v — BSP 3 200|(N)

17 012283201 |GM82PA-705 TV oY 4947 1 0

18 [011067302  [SEK-40 xh=hy-l ¢ 1585 v£53 |1 3,000
99

20 011501401 |OYvy° 1517-425 |1 500[(N)
NBR

21 889855048 [OVv4° P48 NBR 1 200|(N)

22 743119047  |MAN BILRESHEASBT Vb M8x25 4 200|(N)
SWRM

23 734532074  |[FRATEF WMNIvYr-11) M8x50 4 200|(N)
SCM

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 15:48:19




PITT Qube
ORMEASEBROBEFT>TEY A,
ORTEGICHERIISEINTEY A,

SEM-40WGM-AAA-O

OBMEFERCERTSIENHY T,
OERHIBIEREA DM X

No. hE w4 AR - ME ERE T e
24  |827419008 [AfaF+ v b M8 1%#&h  [4 200((N)
SWRM
25  |854255008  [¥-M7yye 8 4 200|(N)
26 012800601 [SE-408BE7v49Fh97° vy 43 2 0[27~30
27 |012020702  |#tRshhnysA4K(1.5" PA 2 0
28  [011800201  [®AEALDYIFTDFUN -{41.5" 2 0
29 [012047801  [SE-40 hanyyn vy (Y f-F) 2 500[011348601 [ (N)
30 |012020901  [#BEHLOY)ALRN vV (1.5") NBR 2 500|(N)
31 743119045  |MAN FILEEHEASET Vb M8x20 4 200((N)
SWRM
32  [011727102  [SE-40WLEK*F v v 77 2 (25/40) 1 800
33  [011801304  [SE-40 AM-T-23(FEY9%) 1 2,000[PA-22(4971770-111202)
34 (940019048 [H-an"uM $48 3 200|(N)
35 |034078101 [SM-25 #w7°Uyy” ABS 1 400|(N)
36  [034078201 [SM-25%TDFzy7° I ABS 1 300
37 [034006501  [SM-25 #97° Uyh n° vEy CR 1 300((N)
38 [034078401 [SM-25 25X15%5/3=97° I ABS 1 300
39 [034078301 [SM-25 25X20MTDF=y7° I ABS 1 300
40 (940019032 [f-an"yp $32 1 200|(N)
417 940019026  [f-an" UM 926 1 200((N)
42  [9040019022  [f-an N ¢ 22 1 200((N)
43  [889955025 |OUv4" G25 NBR 2 200((N)
44 011488001 [EUREREAZESR NI FhOY7 4L 1 200|(N)
T0.05
00 (012013704  |SEFIC L @ENIRERAAE /4410 A4 P12 1 0|(N)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/03/31 15:48:19




